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Method 02 - Eight Groups - Pāḷi and Translation 

 

1. (171) Cakkhāyatanena ye dhammā khandhasaṅgahena saṅgahitā āyatanasaṅgahena asaṅgahitā 

dhātusaṅgahena asaṅgahitā, te dhammā katihi khandhehi katihāyatanehi katihi dhātūhi 

asaṅgahitā? Te dhammā catūhi khandhehi dvīhāyatanehi aṭṭhahi dhātūhi asaṅgahitā. These 

states are classified using the aggregates, unclassified using the bases, unclassified using the 

elements by the eye base. Under how many aggregates, under how many bases and under how 

many elements are those states unclassified? Those states are unclassified under 4 aggregates, 

under 2 bases and under 8 elements. 

2. (171) phoṭṭhabbāyatanena ye dhammā khandhasaṅgahena saṅgahitā āyatanasaṅgahena 

asaṅgahitā dhātusaṅgahena asaṅgahitā, te dhammā katihi khandhehi katihāyatanehi katihi 

dhātūhi asaṅgahitā? Te dhammā catūhi khandhehi dvīhāyatanehi aṭṭhahi dhātūhi asaṅgahitā. 

These states are classified using the aggregates, unclassified using the bases, unclassified 

using the elements by the tangible object base. Under how many aggregates, under how many 

bases and under how many elements are those states unclassified? Those states are 

unclassified under 4 aggregates, under 2 bases and under 8 elements. 

3. (172) Cakkhuviññāṇadhātuyā ye dhammā khandhasaṅgahena saṅgahitā āyatanasaṅgahena 

asaṅgahitā dhātusaṅgahena asaṅgahitā te dhammā katihi khandhehi katihāyatanehi katihi 

dhātūhi asaṅgahitā? te dhammā catūhi khandhehi ekādasahāyatanehi dvādasahi dhātūhi 

asaṅgahitā. These states are classified using the aggregates, classified using the bases, 

unclassified using the elements by the eye consciousness element. Under how many bases and 

under how many elements are those states unclassified? Those states are unclassified under 4 

aggregates, under 11 bases and under 12 elements. 

4. (173) itthindriyena ye dhammā khandhasaṅgahena saṅgahitā āyatanasaṅgahena asaṅgahitā 

dhātusaṅgahena asaṅgahitā te dhammā katihi khandhehi katihāyatanehi katihi dhātūhi 

asaṅgahitā?  te dhammā catūhi khandhehi dvīhāyatanehi aṭṭhahi dhātūhi asaṅgahitā. These 

states are classified using the aggregates, unclassified using the bases, unclassified using the 

elements by the femininity faculty. Under how many aggregates, under how many bases and 

under how many elements are those states unclassified? Those states are unclassified under 4 

aggregates, under 2 bases and under 8 elements. 
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5. (174) Asaññābhavena ye dhammā khandhasaṅgahena saṅgahitā āyatanasaṅgahena asaṅgahitā 

dhātusaṅgahena asaṅgahitā te dhammā katihi khandhehi katihāyatanehi katihi dhātūhi 

asaṅgahitā?  te dhammā catūhi khandhehi tīhāyatanehi navahi dhātūhi asaṅgahitā. These states 

are classified using the aggregates, unclassified using the bases, unclassified using the 

elements by the non percepted becoming. Under how many aggregates, under how many bases 

and under how many elements are those states unclassified? Those states are unclassified 

under 4 aggregates, under 3 bases and under 9 elements. 

6. (176) Anidassanasappaṭighehi dhammehi ye dhammā khandhasaṅgahena saṅgahitā 

āyatanasaṅgahena asaṅgahitā dhātusaṅgahena asaṅgahitā te dhammā katihi khandhehi 

katihāyatanehi katihi dhātūhi asaṅgahitā?  te dhammā catūhi khandhehi dasahāyatanehi 

soḷasahi dhātūhi asaṅgahitā. These states are classified using the aggregates, unclassified 

using the bases, unclassified using the elements by the states invisible but impinging, under 

how many aggregates. Under how many bases and under how many elements are those states 

unclassified? Those states are unclassified under 4 aggregates, under 10 bases and under 16 

elements. 

7. (178) Sappaṭighehi dhammehi ye dhammā khandhasaṅgahena saṅgahitā āyatanasaṅgahena 

asaṅgahitā dhātusaṅgahena asaṅgahitā, te dhammā katihi khandhehi katihāyatanehi katihi 

dhātūhi asaṅgahitā? Te dhammā catūhi khandhehi ekādasahāyatanehi sattarasahi dhātūhi 

asaṅgahitā. These states are classified using the aggregates, unclassified using the bases, 

unclassified using the elements by the states with impinging. Under how many aggregates, 

under how many bases and under how many elements are those states unclassified? Those 

states are unclassified under 4 aggregates, under 11 bases and under 17 elements. 

8. (178) upādādhammehi ye dhammā khandhasaṅgahena saṅgahitā āyatanasaṅgahena asaṅgahitā 

dhātusaṅgahena asaṅgahitā, te dhammā katihi khandhehi katihāyatanehi katihi dhātūhi 

asaṅgahitā? Te dhammā catūhi khandhehi ekādasahāyatanehi sattarasahi dhātūhi asaṅgahitā. 

These states are classified using the aggregates, unclassified using the bases, unclassified 

using the elements by the states which are derived. Under how many aggregates, under how 

many bases and under how many elements are those states unclassified? Those states are 

unclassified under 4 aggregates, under 11 bases and under 17 elements. 


